EAGRAROBREERT — 2 N— IBISH —F 2021568138 (B) 4EI$m4H

m"fﬁ%Sﬁi 1T B2 ‘ [%1z] /J\Eﬁ‘ [eEmE] - | 4 (£) 19000 F4E
[A&4)] 1 7% :7,600,000 8 23 :3,000,000 " ~ 33 :1,900,000 3 43 :1,100,000 @ 5 & :760,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. S it 3 | AAIUBAT 1:59.7 12-11-7-6 | 37.8| 94.1 | 1 468 | KARES (ER)
1 2| /=AY T =R * 54.0 ot} 42) | ) T FL—vsy
RF 4 —TALNT b BNZXF TR =L DS
3 = 5§ 3 | EFEAE 1:59.7 3-2-2-1 [38.4| 94.2 | 10 | 528 |JlIFf#aE (=)
2 31EX/T7Tv>a e 54.0 1/2) ©) |EZARNE
L:IM42>75v2a2 B3I/ TULEZR FH #FA
- E B : -10-7- EHEE (EXR)
3 5| FRE—FFN (B] 4 3 2 (22010/21> 9-10-7-5 |38.2| 90.6 | 4 (zzg g (
R:¥XF B:54TUN—-h =Slipse]
S s,— = 3 | ERbEt 2:00.7 5-4-3-3 | 39.1| 85.7 | 5 468 | BAE (RR)
4157|179 >Fzx7 1 [B] e 54.0 3 1/2) () | ) /=erx
L:A-Fp7O7 B:1-XF1717 #REH /—ZELX
P t 3 | AEXM 2:00.8 6-6-3-3 |39.2| 84.9 | 2 478 | EAET (W)
EH g|V7zv b * A51.0 (1/2) L | @ HEL- 24— 2
LN—ErTv— BX—ANUN=F HET77— L
S z= > 3 | FEEH 2:01.0 3-4-6-9 |39.3|83.2| 3 472 | RERET (FEF)
68|12 IA7TU—7z1 [B] %53.0 (1 1/4) ue) |, #-irfav—xt\—x
R:TwREITA BTN AYA HET7— L
3 ; 4 3 | BERB 2:01.2 11-11-13-12| 38.8 | 81.2 | 6 478 | BEFE (ER)
717110 AX =MLY =4 54.0 (3/4) (-4) K
R:F4—TA4>7 8 B:LYz b ay WD
N o3 | AKX 2:01.3 9-9-7-9 [39.4| 80.8 | 7 474 | RIS (RR)
gl7/11| 7Y/ K>3> 54.0 (3/4) (1) | A
LTRAVUF v BIUIILFISRT FHIL
Sa e FXAA :01. —6-7- . . ARE (EX)
9 9 YL RITAI 4t 4 g3 281)5 6-6-7-7 39.6 | 79.3 8 42;;) .
L:¥XF B:TNTaAFS H#RAEHE /—Zex
N . . —1-1- A8
10 4| VIRE TR 4~ [B] 8 E%'%%’k 2.(062).5 1-1-1-2 | 41.3| 72.9 | 12 fes Zgﬁg%% (&E=R)
QEL/OTOL BiS—S v KDY 12 a5 71
. 1BKI— : 03— #ET (FR)
15l 6|@Y>Y/hyHA o4 hx 2.(0;;.0 2-2-3-9 |41.4]69.2 | 9 <5+146) *::{Efé;?é’&[ﬂ
R:¥XF BN-TIhHTz RENS
RGN N =HB : —6-11- BREhE (ER)
ol y>erz2rmry i 5 LS 2(.30/34.)2 6-6-11-7 | 41.1| 67.3 | 13 (is:g) =i
Ri—5—Yy7 B:A-LITT4— =te]
S 4 o4 | BFHR 2:03.4 13-13-11-13| 41.3 | 66.0 | 11 446 | EIEZ (FR)
13)8[13] * 1>V X117 57.0 (1179 g | PALE
RVZRE—IZX8— B 4430 TIyy =ie)
@ 71 L
) 51.1-38.5
NA> &AL | 7.3-11.3-11.2-13.0-13.0-12.8-12.6-12.8-12.5-13.2
@ 1—F—@&BIEf
13=7r= 4-6(3,12)7(1,8,9) (5,11)-10,2,13
Pol=5r= 4-(3,6) (7,12) (1,8,9)11,5-(10,2)-13
G=57= (x4,3)-(8,7,6)12(2,5,9,11) (1,13)10
43—7— (4,%3) (8,7)5,2-(1,9) (6,12,11)10,13
[ RN
B OB 2 380H 714K 2-3 1,570H e & 2-3 4,290 3ER 2-3-5 14,230H
8 B 2 200M 2-5 860F B & 2-3 4,460M 3B 2-3-5 60,610
3 480M 3-5 2,640 B H 2-3 6,450/
5 210M

ARICOVWTRDTEEERROODE. TR LIV,



